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JEAL K 4 our N b=f  HDCP % v b
1 = BAlR 35 39 74 3.60 70.40
2 RE IBFE 39 38 77 6.00 71.00
SHUBERT — R, 45 43 88 16.80 71.20
AER R 37 36 73 1.20 71.80
5 HIE B+ 46 45 91 19.20 71.80
6y HF Wk 39 40 79 1.20 71.80
T+FH ® 38 40 78  6.00 72.00
8 KR [Af 45 38 83 10.80 72.20
9E  F— 38 38 76 3.60 72.40
107 %% 42 45 87 14.40 72.60
116¢ 1EZE= 49 43 92 19.20 72.80
12— A Fr— 47 44 91 18.00 73.00
13k WE 41 44 85 12.00 73.00
1482y 1IE& 49 42 91 18.00 73.00
15 HAF 1B 43 41 84 10.80 73.20
16 53 1EFE 39 39 78 4.80 73.20
17 AA Fndh 45 39 84 10.80 73.20
18 5 H 45 45 90 16.80 73.20
1959 A F I 55 45 100 26.40 73.60
20HIH (& 42 46 88 14.40 73.60
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21 A B 47 40 87 13.20 73.80
2R & 44 43 87 13.20 73.80
23 K& IE 43 44 87 13.20 73.80
24 SKH R 44 43 87 13.20 73.80
25 7 R4 38 48 86 12.00 74.00
26 kA — I+ 42 44 86 12.00 74.00
AN 41 45 86 12.00 74.00
28 HIFF & 38 36 74 0.00 74.00
20 KAF ZEA) 42 54 96 21.60 74.40
* 30 BT S 40 38 78  3.60 74.40
SLATH BRTE 45 44 89 14.40 74.60
2VEE 4 47 47 94 19.20 74.80
B S 39 43 82 1.20 74.80
34 TR 45 49 94 19.20 74.80
* 3BEE  {EF] AT AT 94 19.20 74.80
36 B HEE 41 40 81 6.00 75.00
3E KR 43 44 87 12.00 75.00
38 FH &= 49 44 93 18.00 75.00
39 HHE 28 —Ef 50 42 92 16.80 75.20
* 4041 AME 40 46 86 10.80 75.20
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41783 E— 46 52 98 22.80 75.20
42 =8 /NE 47 44 91 15.60 75.40
43Z=JH K3g 47 43 90 14.40 75.60
AR Fohk 40 44 84 8.40 75.60
45 FHAE s 41 48 89 13.20 75.80
461 BER 48 46 94 18.00 76.00
4788 H HIE 43 44 87 10.80 76. 20
48 FH HE— 48 50 98 21.60 76. 40
H9NH B 40 40 80 3.60 76.40
50 55 [ 5% 47 45 92 15.60 76. 40
SR S 46 45 91 14.40 76.60
52 TR e 45 44 89 12.00 77.00
53 k8 BH 44 50 94 16.80 77.20
s4 0 FOC 48 46 94 16.80 77.20
55 I A 49 45 94 16.80 77.20
56 FHH  8kE 45 48 93 15.60 77.40
5T B 49 44 93 15.60 77.40
= N = 49 55 104 26.40 77.60
sodbAT B T 45 47 92 14.40 77.60
60 PAA  HygE 46 50 96 18.00 78.00
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61 FHY fHC 39 45 84 6.00 78.00
62 KH 1HXC 44 51 95 16.80 78.20
634 F B 47 48 95 16.80 78.20
64 P FnZE 49 51 100 21.60 78.40
65 FH 7. Y i 51 49 100 21.60 78.40
66 AR B 54 51 105 26.40 78.60
67 7N 5LIA 58 52 110 31.20 78.80
68 EFH & —EH[ 52 54 106 26.40 79.60
69 A& BHKE 46 48 94 14.40 79.60
* 70 °F ] 50 50 100 20.40 79.60
TLERS i sE 45 54 99 19.20 79.80
T2 H 52 52 104 24.00 80.00
3tEE FSC 53 52 105 24.00 81.00
74 ]ME  Fi=2 45 52 97 15.60 81.40
75K ER 54 50 104 21.60 82.40
BB T6A{IC o fm 56 52 108 25.20 82.80
T RES B 53 60 113 30.00 83.00
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